

## A STUDY ON $(k, \mu)'$ -ALMOST KENMOTSU MANIFOLDS

JIN LI, XIMIN LIU AND WENFENG NING

**Abstract.** Let  $\mathcal{C}$ ,  $\mathcal{M}$ ,  $\mathcal{L}$  be concircular curvature tensor,  $M$ -projective curvature tensor and conharmonic curvature tensor, respectively. We obtain that if a non-Kenmotsu  $(k, \mu)'$ -almost Kenmotsu manifold satisfies  $\mathcal{C} \cdot S = 0$ ,  $R \cdot \mathcal{M} = 0$  or  $R \cdot \mathcal{L} = 0$ , then it is locally isometric to the Riemannian product  $\mathbb{H}^{n+1}(-4) \times \mathbb{R}^n$ .

### 1. Introduction

A  $(2n + 1)$ -dimensional smooth differentiable manifold  $M^{2n+1}$  is said to be an *almost contact metric manifold* if on  $M^{2n+1}$  there exists a structure  $(\phi, \xi, \eta, g)$  satisfying

$$(1.1) \quad \phi^2 = -id + \eta \otimes \xi, \quad \eta(\xi) = 1,$$

$$(1.2) \quad g(\phi X, \phi Y) = g(X, Y) - \eta(X)\eta(Y)$$

for any vector fields  $X, Y \in \mathfrak{X}(M)$ , where  $\phi$  is a  $(1, 1)$ -type tensor field,  $\xi$  a global vector field,  $\eta$  a 1-form and  $g$  a Riemannian metric [7]. An almost Kenmotsu manifold is defined as an *almost contact metric manifold* such that  $\eta$  is closed, i.e.,  $d\eta = 0$ , and  $d\Phi = 2\eta \wedge \Phi$ , where  $\Phi$  is a 2-form on  $M^{2n+1}$  defined by  $\Phi(X, Y) = g(X, \phi Y)$  for any  $X, Y \in \mathfrak{X}(M)$ . An *almost contact metric manifold* is said to be *normal* when the Nijenhuis tensor  $\phi$  is given by

$$[\phi, \phi] = -2d\eta \otimes \xi,$$

where

$$[\phi, \phi](X, Y) = \phi^2[X, Y] + [\phi X, \phi Y] - \phi[\phi X, Y] - \phi[X, \phi Y], \quad \forall X, Y \in \mathfrak{X}(M).$$

---

Received February 4, 2018. Revised March 13, 2018. Accepted March 20, 2018.  
2010 Mathematics Subject Classification. 53D15, 53C25

Key words and phrases.  $(k, \mu)'$ -almost Kenmotsu manifolds, concircular curvature tensor,  $M$ -projective curvature tensor, conharmonic curvature tensor.

This work is supported by the National Natural Science Foundation of China (No. 11431009).

A normal almost Kenmotsu manifold is called a *Kenmotsu manifold* [4]. From [10], the normality is equivalent to the following

$$(\nabla_X \phi)Y = g(\phi X, Y)\xi - \eta(Y)\phi X, \quad \forall X, Y \in \mathfrak{X}(M).$$

On an almost Kenmotsu manifold  $M^{2n+1}$ , we consider two (1,1)-type tensor fields  $h = \frac{1}{2}L_\xi \phi$  and  $h' = h \circ \phi$ , where  $L$  is the Lie differentiation. According to [9], we see that the tensor fields  $h$  and  $h'$  are symmetric operators and satisfy the following conditions

$$(1.3) \quad h\xi = h'\xi = 0, \quad \text{tr}(h) = \text{tr}(h') = 0, \quad h\phi + \phi h = 0.$$

For more details and results on almost Kenmotsu manifolds, we refer the reader to [2, 8].

In this paper, we aim to investigate the concircular curvature tensor  $\mathcal{C}$ , the  $M$ -projective curvature tensor  $\mathcal{M}$  and the conharmonic curvature tensor  $\mathcal{L}$  on  $(k, \mu)$ '-almost Kenmotsu manifolds. Let  $\mathcal{S}$  be the Ricci tensor,  $R$  the Riemannian curvature tensor and  $Q$  the Ricci operator defined by  $\mathcal{S}(X, Y) = g(QX, Y)$ . In preliminaries Section, we provide some properties to prove our main results. In Section 3, we prove that a  $(k, \mu)$ '-almost Kenmotsu manifold  $M^{2n+1}$  satisfying  $\mathcal{C} \cdot \mathcal{S} = 0$  is locally isometric to the Riemannian product  $\mathbb{H}^{n+1}(-4) \times \mathbb{R}^n$  or it is an Einstein manifold. In Section 4 and 5, we study a non-Kenmotsu  $(k, \mu)$ '-almost Kenmotsu manifold satisfying  $R \cdot \mathcal{M} = 0$  or  $R \cdot \mathcal{L} = 0$ , then it is locally isometric to the Riemannian product  $\mathbb{H}^{n+1}(-4) \times \mathbb{R}^n$ .

## 2. Preliminaries

An almost Kenmotsu manifold  $(M^{2n+1}, \phi, \xi, \eta, g)$  is said to be a  $(k, \mu)$ '-almost Kenmotsu manifold if the vector field  $\xi$  satisfies the  $(k, \mu)$ '-nullity condition, i.e.,

$$(2.1) \quad R(X, Y)\xi = k(\eta(Y)X - \eta(X)Y) + \mu(\eta(Y)h'X - \eta(X)h'Y)$$

where  $X, Y \in \mathfrak{X}(M)$ ,  $k, \mu \in \mathbb{R}$ . Similarly, if  $\xi$  satisfies the  $(k, \mu)$ -nullity condition, i.e.,

$$(2.2) \quad R(X, Y)\xi = k(\eta(Y)X - \eta(X)Y) + \mu(\eta(Y)hX - \eta(X)hY)$$

where  $X, Y \in \mathfrak{X}(M)$ ,  $k, \mu \in \mathbb{R}$ , then  $M^{2n+1}$  is said to be a  $(k, \mu)$ -almost Kenmotsu manifold [3].

From [3], we know that on  $(k, \mu)$ '-almost Kenmotsu manifolds with  $h' \neq 0$ , then  $k < -1$ ,  $\mu = -2$ , and

$$(2.3) \quad h'^2 X = -(k+1)(X - \eta(X)\xi)$$

for any  $X \in \mathfrak{X}(M)$ . Moreover,  $h' = 0$  if and only if  $k = -1$ . According to (2.1), we have

$$(2.4) \quad R(\xi, X)Y = k(g(X, Y)\xi - \eta(Y)X) - 2(g(h'X, Y)\xi - \eta(Y)h'X)$$

for any  $X, Y \in \mathfrak{X}(M)$ . When  $k < -1$ , we denote by  $[\lambda]'$  and  $[-\lambda]'$  the eigenspaces of  $h'$  associated with eigenvalues  $\lambda, -\lambda$ , respectively. From (2.3), we have  $\lambda^2 = -(k + 1)$  [6].

We give an important lemma used to proof our main results:

**Lemma 2.1** ([10, Lemma 3.2]). *Let  $M^{2n+1}$  be a  $(k, \mu)'$ -almost Kenmotsu manifold such that  $h' \neq 0$ . Then the Ricci operator of  $M^{2n+1}$  is given by*

$$(2.5) \quad QX = -2nX + 2n(k + 1)\eta(X)\xi - 2nh'X.$$

Moreover, the scalar curvature of  $M^{2n+1}$  is  $2n(k - 2n)$ .

### 3. Concircular curvature tensor

The concircular curvature tensor  $\mathcal{C}$  on a  $(2n + 1)$ -dimensional Riemannian manifold  $(M^{2n+1}, g)$  is defined by

$$(3.1) \quad \mathcal{C}(X, Y)Z = R(X, Y)Z - \frac{r}{2n(2n + 1)}(g(Y, Z)X - g(X, Z)Y)$$

for any vector fields  $X, Y, Z \in \mathfrak{X}(M)$ , where  $r$  is the scalar curvature of  $M^{2n+1}$ .

Let  $M^{2n+1}$  be a  $(k, \mu)'$ -almost Kenmotsu manifold satisfying

$$(3.2) \quad \mathcal{C}(\xi, Y) \cdot \mathcal{S}(Z, W) = 0.$$

Therefore, it implies that

$$(3.3) \quad \mathcal{S}(\mathcal{C}(\xi, Y)Z, W) + \mathcal{S}(Z, \mathcal{C}(\xi, Y)W) = 0.$$

Firstly, we consider the case  $h' \neq 0$ , or equivalently,  $k < -1$ . Putting  $W = \xi$  in (3.3), using (2.4) and Lemma 2.1, we obtain

$$(3.4) \quad \begin{aligned} & \mathcal{S}(\mathcal{C}(\xi, Y)Z, \xi) \\ &= 2nkg(R(\xi, Y)Z, \xi) - \frac{r \cdot 2nk}{2n(2n + 1)}g(Y, Z) + \frac{r \cdot 2nk}{2n(2n + 1)}\eta(Z)\eta(Y) \\ &= \left(2nk^2 - \frac{k - 2n}{2n + 1} \cdot 2nk\right) (g(Y, Z) - \eta(Z)\eta(Y)) - 4nkg(h'Y, Z) \end{aligned}$$

for any vector fields  $Y, Z \in \mathfrak{X}(M)$ . Similarly, we also have

$$(3.5) \quad \mathcal{S}(Z, \mathcal{C}(\xi, Y)\xi) = g(R(\xi, Y)\xi, QZ) - \frac{r}{2n(2n + 1)}\eta(Y)g(QZ, \xi) + \frac{r}{2n(2n + 1)}g(Y, QZ)$$

for any vector fields  $Y, Z \in \mathfrak{X}(M)$ . Further, according to  $\mathcal{S}(X, Y) = g(QX, Y)$  and (2.3), we have

$$\begin{aligned} & g(R(\xi, Y)\xi, QZ) \\ (3.6) \quad & = g(k\eta(Y)\xi - kY + 2h'Y, -2nZ + 2n(k+1)\eta(Z)\xi - 2nh'Z) \\ & = (4n + 6nk)g(Y, Z) + (2nk - 4n)g(h'Y, Z) - (6nk + 4n)\eta(Y)\eta(Z). \end{aligned}$$

From Lemma 2.1, we get

$$(3.7) \quad \eta(Y)g(QZ, \xi) = 2nk\eta(Y)\eta(Z),$$

$$(3.8) \quad g(Y, QZ) = -2ng(Y, Z) - 2ng(h'Z, Y) + 2n(k+1)\eta(Y)\eta(Z).$$

Putting (3.6)–(3.8) into (3.5) and using Lemma 2.1, we obtain

$$\begin{aligned} (3.9) \quad \mathcal{S}(Z, \mathcal{C}(\xi, Y)\xi) & = \left(4n + 6nk - \frac{2n(k-2n)}{2n+1}\right) (g(Y, Z) - \eta(Y)\eta(Z)) \\ & + \left(2nk - 4n - \frac{2n(k-2n)}{2n+1}\right) g(h'Z, Y). \end{aligned}$$

Putting (3.4) and (3.9) into (3.3), we get

$$\begin{aligned} (3.10) \quad & \left(2nk^2 - \frac{2n(k+1)(k-2n)}{2n+1} + 4n + 6nk\right) (g(Y, Z) - \eta(Y)\eta(Z)) \\ & + \left(-2nk - 4n - \frac{2n(k-2n)}{2n+1}\right) g(h'Z, Y) = 0. \end{aligned}$$

Assume that  $Y, Z \in [\lambda]'$ , then we have

$$g(h'Y, Z) = \lambda g(Y, Z), \quad \eta(Y)\eta(Z) = 0.$$

Now (3.10) becomes

$$(3.11) \quad 2n \left( (k^2 + 2 + 3k - 2\lambda - k\lambda) - \frac{(k-2n)(k+1+\lambda)}{2n+1} \right) g(Y, Z) = 0.$$

Using  $k = -\lambda^2 - 1$ , we get

$$\lambda^2(\lambda - 1)(2n\lambda + 4n + 2) = 0.$$

Since  $\lambda > 0$ , it follows that  $\lambda = 1$ , and hence  $k = -2$ .

Otherwise, in case of  $h' = 0$  ( $\Leftrightarrow k = -1$ ), equations (2.1) and (2.4) become

$$(3.12) \quad R(X, Y)\xi = \eta(X)Y - \eta(Y)X,$$

$$(3.13) \quad R(\xi, X)Y = -g(X, Y)\xi + \eta(Y)X$$

for any  $X, Y \in \mathfrak{X}(M)$  [5]. According to (3.12),

$$(3.14) \quad \mathcal{S}(X, \xi) = -2n\eta(X), \quad Q(\xi) = -2n\xi.$$

Then, we have

$$(3.15) \quad \begin{aligned} & \mathcal{S}(\mathcal{C}(\xi, Y)Z, \xi) \\ &= 2n \left( 1 + \frac{r}{2n(2n+1)} \right) g(Y, Z) - 2n \left( 1 + \frac{r}{2n(2n+1)} \right) \eta(Z)\eta(Y), \end{aligned}$$

$$(3.16) \quad \begin{aligned} & \mathcal{S}(Z, \mathcal{C}(\xi, Y)\xi) \\ &= \left( 1 + \frac{r}{2n(2n+1)} \right) \mathcal{S}(Y, Z) + 2n \left( 1 + \frac{r}{2n(2n+1)} \right) \eta(Z)\eta(Y). \end{aligned}$$

Using (3.3), (3.15) and (3.16), we get

$$(3.17) \quad \mathcal{S}(Y, Z) = -2ng(Y, Z).$$

Therefore, we conclude the following:

**Theorem 3.1.** *If a  $(k, \mu)'$ -almost Kenmotsu manifold satisfies  $\mathcal{C} \cdot S = 0$ , either it is locally isometric to the Riemannian product  $\mathbb{H}^{n+1}(-4) \times \mathbb{R}^n$  or it is an Einstein manifold.*

#### 4. $M$ -projective curvature tensor

The  $M$ -projective curvature tensor  $\mathcal{M}$  on a  $(2n+1)$ -dimensional Riemannian manifold  $(M^{2n+1}, g)$  is given by

$$(4.1) \quad \begin{aligned} \mathcal{M}(X, Y)Z &= R(X, Y)Z - \frac{1}{4n} [\mathcal{S}(Y, Z)X \\ &\quad - \mathcal{S}(X, Z)Y + g(Y, Z)QX - g(X, Z)QY] \end{aligned}$$

for any vector fields  $X, Y, Z \in \mathfrak{X}(M)$ .

Let  $M$  be a  $(k, \mu)'$ -almost Kenmotsu manifold satisfying  $R(\xi, X) \cdot \mathcal{M} = 0$ . It implies that

$$(4.2) \quad \begin{aligned} & g(R(\xi, e_i)(\mathcal{M}(e_i, Z)W), \xi) - g(\mathcal{M}(R(\xi, e_i)e_i, Z)W, \xi) \\ & - g(\mathcal{M}(e_i, R(\xi, e_i)Z)W, \xi) - g(\mathcal{M}(e_i, Z)R(\xi, e_i)W, \xi) = 0. \end{aligned}$$

By simple calculation, we get

$$(4.3) \quad \begin{aligned} & g(R(\xi, e_i)(\mathcal{M}(e_i, Z)W), \xi) \\ &= \frac{(2n+1)k}{4n} \mathcal{S}(Z, W) - \frac{(k-2n)k}{2} g(Z, W) - kg(\mathcal{M}(\xi, Z)W, \xi) \\ & \quad - 2g(\mathcal{M}(e_i, Z)W, h'e_i). \end{aligned}$$

Using (2.4), the second term in (4.2) becomes

$$(4.4) \quad g(\mathcal{M}(R(\xi, e_i)e_i, Z)W, \xi) = 2nkg(\mathcal{M}(\xi, Z)W, \xi).$$

In view of the anti-symmetrization of  $X, Y$  in  $\mathcal{M}(X, Y)Z$ , we obtain

$$(4.5) \quad \begin{aligned} g(\mathcal{M}(e_i, R(\xi, e_i)Z)W, \xi) &= g(\mathcal{M}(\xi, W)\xi, kZ - 2h'Z) \\ &+ 2\eta(Z)g(\mathcal{M}(e_i, h'e_i)W, \xi). \end{aligned}$$

Because of the anti-symmetrization of  $Z, W$  in  $g(\mathcal{M}(X, Y)Z, W)$ , the last term in (4.2) becomes

$$(4.6) \quad \begin{aligned} g(\mathcal{M}(e_i, Z)R(\xi, e_i)W, \xi) &= -k\eta(W)g(\mathcal{M}(e_i, Z)e_i, \xi) \\ &+ 2\eta(W)g(\mathcal{M}(e_i, Z)h'e_i, \xi). \end{aligned}$$

Putting (4.3)–(4.6) into (4.2), we get

$$(4.7) \quad \begin{aligned} &\frac{(2n+1)k}{4n}\mathcal{S}(Z, W) - \frac{(k-2n)k}{2}g(Z, W) + g(\mathcal{M}(\xi, W)\xi, 2nkZ + 2h'Z) \\ &+ g(\mathcal{M}(e_i, Z)h'e_i, 2W) + 2\eta(Z)g(\mathcal{M}(e_i, h'e_i)\xi, W) \\ &+ \eta(W)g(\mathcal{M}(e_i, Z)\xi, 2h'e_i - ke_i) = 0. \end{aligned}$$

By using the Lemma 4.2 in [1], we have the following formulas

$$(4.8) \quad \begin{aligned} g(\mathcal{M}(\xi, W)\xi, 2nkZ + 2h'Z) &= (nk+3)(1+k)[\eta(W)\eta(Z) - g(W, Z)] \\ &+ (3nk-1-k)g(W, h'Z), \end{aligned}$$

$$(4.9) \quad 2\eta(Z)g(\mathcal{M}(e_i, h'e_i)\xi, W) = 0,$$

$$(4.10) \quad \eta(W)g(\mathcal{M}(e_i, Z)\xi, 2h'e_i - ke_i) = n(k+1)(6-k)\eta(Z)\eta(W),$$

$$(4.11) \quad \begin{aligned} g(\mathcal{M}(e_i, Z)h'e_i, 2W) &= 2(2n+1)(k+1)[\eta(Z)\eta(W) - g(h'Z, W)] \\ &- 2(n+1)(k+1)g(Z, W). \end{aligned}$$

Assume that  $Z \in [-\lambda]'$ ,  $W \in [\lambda]'$ , then we obtain

$$(4.12) \quad [4nk+7k+8n+6]g(h'Z, W) + (k+1)(k+2nk+10+4n)g(Z, W) = 0.$$

So we have

$$(4.13) \quad \lambda(\lambda-1)[-(2n+1)\lambda^2 - (6n+8)\lambda + (1-4n)] = 0.$$

We obtain  $\lambda = 1$ , then  $k = -2$ . Therefore, we conclude the following:

**Theorem 4.1.** *If a  $(k, \mu)$ '-almost Kenmotsu manifold satisfies  $R \cdot \mathcal{M} = 0$  and  $h' \neq 0$ , then it is locally isometric to the Riemannian product  $\mathbb{H}^{n+1}(-4) \times \mathbb{R}^n$ .*

### 5. Conharmonic curvature tensor

The conharmonic curvature tensor  $\mathcal{L}$  on a  $(2n + 1)$ -dimensional Riemannian manifold  $(M^{2n+1}, g)$  is given by

$$(5.1) \quad \begin{aligned} \mathcal{L}(X, Y)Z = & R(X, Y)Z - \frac{1}{2n-1}[\mathcal{S}(Y, Z)X \\ & - \mathcal{S}(X, Z)Y + g(Y, Z)QX - g(X, Z)QY] \end{aligned}$$

for any vector fields  $X, Y, Z \in \mathfrak{X}(M)$ .

Let  $M$  be a  $(k, \mu)'$ -almost Kenmotsu manifold satisfying  $R(\xi, X) \cdot \mathcal{L} = 0$ . It implies that

$$(5.2) \quad \begin{aligned} & g(R(\xi, e_i)(\mathcal{L}(e_i, Z)W), \xi) - g(\mathcal{L}(R(\xi, e_i)e_i, Z)W, \xi) \\ & - g(\mathcal{L}(e_i, R(\xi, e_i)Z)W, \xi) - g(\mathcal{L}(e_i, Z)R(\xi, e_i)W, \xi) = 0. \end{aligned}$$

Then we have

$$(5.3) \quad \begin{aligned} & \frac{2nk(2n-k)}{2n-1}g(Z, W) + 2g(\mathcal{L}(\xi, W)\xi, nkZ + h'Z) + g(\mathcal{L}(e_i, Z)h'e_i, 2W) \\ & + 2\eta(Z)g(\mathcal{L}(e_i, h'e_i)\xi, W) + \eta(W)g(\mathcal{L}(e_i, Z)\xi, 2h'e_i - ke_i) = 0. \end{aligned}$$

By further calculation, assuming that  $Z \in [-\lambda]'$ ,  $W \in [\lambda]'$ , we have

$$(5.4) \quad 4\lambda(\lambda - 1)[(-n^2 - n + 1)\lambda + n - n^2] = 0.$$

We also get that  $\lambda = 1$  and  $k = -2$ . Therefore, we conclude the following:

**Theorem 5.1.** *If a  $(k, \mu)'$ -almost Kenmotsu manifold satisfies  $R \cdot \mathcal{L} = 0$  and  $h' \neq 0$ , then it is locally isometric to the Riemannian product  $\mathbb{H}^{n+1}(-4) \times \mathbb{R}^n$ .*

### References

- [1] A. M. Pastore and V. Saltarelli, *Generalized nullity distributions on almost Kenmotsu manifolds*, Int. Electron. J. Geom. **4(2)** (2011), 168-183.
- [2] D. G. Prakasha and K. Mirji, *On the  $M$ -Projective curvature tensor of a  $(k, \mu)$ -contact metric manifold*, Facta Univ. Ser. Math. Inform. **32(1)** (2017), 117-128.
- [3] G. Dileo and A. M. Pastore, *Almost Kenmotsu manifolds and nullity distributions*, J. Geom. **93(1)** (2009), 46-61.
- [4] K. Kenmotsu, *A class of almost contact Riemannian manifolds*, Tohoku Math. J. **24(1)** (1972), 93-103.
- [5] U. C. De and K. Mandal, *On  $\phi$ -Ricci recurrent almost Kenmotsu manifolds with nullity distributions*, Int. Electron. J. Geom. **9(2)** (2016), 70-79.
- [6] U. C. De, J. B. Jun and K. Mandal, *On almost Kenmotsu manifolds with nullity distributions*, Tamkang J. Math. **48(3)** (2017), 251-262.

- [7] U. C. De and K. Mandal, *On a type of almost Kenmotsu manifolds with nullity distributions*, Arab J. Math. Sci. **23(2)** (2017), 109-123.
- [8] Y. Wang, *A class of 3-dimensional almost Kenmotsu manifolds with harmonic curvature tensors*, Open Math. **14(1)** (2016), 977-985.
- [9] Y. Wang and W. Wang, *Some results on  $(k, \mu)'$ -almost Kenmotsu manifolds*, Quaestiones Math. DOI: 10.2989/16073606.2017.1391347.
- [10] Y. Wang and X. Liu, *On almost Kenmotsu manifolds satisfying some nullity distributions*, Proc. Natl. Acad. Sci., India Sec. A: Phys. Sci. **86(3)** (2016), 347-353.

Jin Li

School of Mathematical Sciences, Dalian University of Technology,  
Dalian 116024, Liaoning, P. R. China.  
E-mail: lijin0907@mail.dlut.edu.cn

Ximin Liu

School of Mathematical Sciences, Dalian University of Technology,  
Dalian 116024, Liaoning, P. R. China.  
E-mail: ximinliu@dlut.edu.cn

Wenfeng Ning

School of Mathematical Sciences, Dalian University of Technology,  
Dalian 116024, Liaoning, P. R. China.  
E-mail: winniening@mail.dlut.edu.cn